mardh zo %

FWC 2016 A/ COMBINE D MMATHS T
or. fw=%" 06 A= _f[(z-{‘)o\m—j' Adm(®
:F(.):']:bx\-\-\ . ® =\ =\ )
$py= 1= bk, kez @ ={2,‘_ 2n" ‘@ W
\f(h‘)z P’("“*") @ 4+ @ * -1
= g (k) , ThrI€2 - (2_3_2)_(—2_\_%>@
Conclusion @ S
dn_ zq secs tue (B
do
2 2
dq - 3a twe seco &
\ de
L l A 1)
3 2 94 B o
© g secd®
i
Rqoca\rec\. Seldpisn {1\04142} E%-wf\'i"” of i *“'5“+ a
S __V,_g_,__,_@_ y- ot = Hon (,,\__aset-“)@
03 . A Secx
col b X - Y SCex = asu*t“’\‘(@ r;?l
B /[:O
08+ Mag = -5 @ =
B
Lz angdq-@re)=o@® | s
3
AL o Lo S
Az f2xe o) Bxifo, 228 OI P
(£20) o2 (o525 |
AN =321 (B
Vz-w| a = 3(0)‘\"(5‘::\‘.'.’3@ I
—  NTa
= =g “ 25 |
B (>l i o - ==
e j(m)-:.k(‘nz—-h\&ﬂ—\-k-ki)"'kz—?- ® 09, e RS @ 6,20 5,=0 I
=, & (7‘.—2\&‘)2_*' \‘-’L"”‘ @ to bq-“’/c ¢
- nCoC, =
= q(m—b)\"\'c ; I-uﬁa.‘b’e. a-_-\L/\D-QA" I ]«rb/d/ ,'o
e £ B hie |
koo aod '?tx\llnt o222 (B | be-ad | = lac+bd )@ !’ 5
% F A @ \‘
[ e oo )
* - 5 25
e Vi 1Sk~ sin nyws 7 Gosl
A-30 "L? ,\u\—s‘,..\\.x_su;"ﬂ\-)-—ln_\\j 10« <ot A= —?yq_ @
|
. Siakm \\\ﬂ\ cos A = — 35
= 4_}\‘:‘0 B M_;,Q{(]-\-s.,.‘..«....s\}a.ﬁ- / @
- @ mﬁs sinA = % @
® ‘ s
I
- 1 -
i - -{_J’—.::\_j}— @ 2cctp — 5 wa TSina
s - —f -3 “wye o (5
e = 2 %)—-b( /,)*/, &
7 = 23
> © [z5]
25 |-




He(a)dma, " P-z0 ® P2)=-%& &
2a-b= s.® 2a+b5= — 1 &

= a=), b=-3

Civy P(’)\‘) = (‘A+2) (7&-—-6)(’7\—|—\)

(b) yz HAazxn=7

Ay on-F
(4-1) R4 2 (4-13)7 = FyxrF=0 &
IF Y=\ =23

et 34

)
=) (y-s)(4-A) 2 °@®
Yes or Y29 ®

<Tp=b, <P=<
2 r 2
4 LB = b(b=-3c)
P = - = @
2 R
L. Bec
% QCT.:\YLA et\wa’ﬁw\

<
= ZE
iy wrd=b | R —bx=-c @

¢y 6y

c11« L(Y¥ -3

LbecC
T
(bfl

bt €

b+ |

-y Bis g 3kt l)

C3:84 @

Giy 5+ g e fele
% Ty T AR Y
8, %g B & B, NG ot &

\2 -

(a) i) 9

%

R

0 is even lek az=am

(b) If

3—1+32+3+

(l+3*

1

Y=\
o
~ ™
g—%YS_\.L cvr -

Y=}

i

Yo Y=\

Y

2

10" -)-&') @

X

—_ (n3+ J\-ﬂL

i1

For all weal values of n 820

—1—8':'0
Y= 5®

3+ %g- G-, = T8k
&

s (2M-\)+3(""‘

s {2 =) )—de‘H- \1-1"\))
ZQT”‘) + 3. Air .

g m (mt) L b m (™t

Ij- n {5 odd , (n+v)) i3 even

‘Sn: s,\.‘\.\—' -‘_;1‘\'\

b3 4
= (Pt [LM—\) 4 1 (ne) e («+|3+;j

®

L
— 3 (n+

ENRENEN

s (D2 1={26 @
el = 2l &

(b) 2,.2.= —13+ 13% L

\3{3 (m L Ay 1‘5)

iy et Vio—301 = #+13 &

Vo-301 =A—g a2yl B
> =" D
Ay = 1o B
2 Yy=+x3 &

Nib—asi = w Sedly 5390

e Gra (2= 57\' @

5

R (V)
Giiy = b §(%)
; e

Lt -7 ¥ (wx

-+ f,é\‘\ﬂ()

(-B) = ¥ [ astoed+1 SM(@-\-A)J@
= (%-w) [O)&-(—i-‘mdl) @
[z5]

Y

%l(z‘\-ﬁi)

L 2= —E’l’
o N % @) E (vek) (WA
S 15 70) @

=) B= -3 @

(Ra-wrs (o) (@Frisn

=) Zu = 1xI3)- ()
[=0l

)

®




dq - "‘.m“,“" i . e
'-4—'0'(a)f:e e 2 —__‘)

(Caap) =
3 < “'1“»: «“n
Geidgl = el ®
) *q"—"" " -"':‘h
b e (- 1Y

[ g

) o - e
Cb) j"""): { SMt) ” »n

RS
(7= s SR

At e -}\mﬂ,j pomt ‘{,\mn ®
N = -2 @

2 c\”1 ‘ -AJ-'J’N: e
G ) am™ L S i+mY

=) A2 OF
‘7\%-2-8 = %"\:A G mMinimum Poml—
T Aoy (-2,7/A)
. 2—5 = %‘ 28 maximar ‘70\‘0"
n= 2%8 =) d4 <o C2,-V)
a & &)

P ) Yy <
7“;"8 =) Yy —>
" = \ S =) 3,__)__,‘,&

5= °@ >

n= 4§ = 3_),,9

? [ i |
I 1
' |
' 1
' |
— P TEY T4 RN ‘@
: T
i
| ]
‘/\l
y .

”n =k@

B o

(=) (n==) X
Ty bk k<= /4 both graphs
will not \n¥ersect - & =

) ) ,J._)_*M_;qq_ &

" T
kA
’L = 1 §a-n-m
ke ()
ay_= L ia“..z—i‘} @
- "’ AV =
HPY R ot Gl '33’“ o @

act vah‘<9

71::’-—:%3@

For maximum ©OF )
S e e (-

—8 F2 At K3

A= Y53
R “/ﬁ +& =) % <0
3
= -
> Vs 5 @ [50)

o a
5. (a T howo 5 wdn= | Fa-mdm
(a) To s ;g ¢ é @

q2 :
Te= S Sin (’—‘71-7\) Co,s(I?z__,\)d@m

&

’L
i 5“)4—”\ Sin o dw

\

"

() e ®

4
F
I

)

Saaz®

‘/f RVL"’,;.——

[\

|

(b) '\:': 7(.L @

= ¥ oo g at S,
= j = = ‘Ss‘nt‘2t N }@

= \WNE %\ \:L«S\nt —

y ’ _j-—out'cuzj

- 525‘,\\:_3 b(_a:‘st)

- z 2 M_'\'L _

52 Lz '7-1* s.nxl—\—’n wsn —S (‘_
7{1+1 AnsB 1

) _ - e

(7\1—-\-\) (—7\1’_‘-“ )

T

©
C=0 :D:_E‘-
i &

/2
____..—-dm -+
{(m=+\)

j A
=
(m )

kS
‘S o drsr
b————’r—‘
("'\L-\-\) (—»\-r\.y)

@

dm




a|’“'\‘h|‘1't (.i Qb4+

16 (a) To e il .
B a— tmsR
b \pore oo 13- €4) tanse = 3ton ;
@ e |- 3 tun” A CD
% Uar = 37:

o »

> mrerkro Mge = "3 & “un za 3 -tne _ ke
@] Tea e

A E < P t‘C\nLﬁ _ -2

Tty &> ) == @

3
3SinA — S A

Ui Eﬂmﬁcv\s 05' e bisectrs Sin36 @
.\\a’l\-—:l,u‘—'rlk. - 3-;,_‘-\.p5-\-k. S0 fQ S in O
i 80 o p =
= =3 (D
= 3= %\—uP'A )
n=y K=o, Fu—ry+ 3w=0
_ 2 W
Gi ) RBisedo ) Ty B S
i N % ° anc N —_ =0 _
e . ==
£z (-4 3D k= 25" )
Cb) SinX TN, —b»"‘z»_‘"—
¢Givd D= (3.e) ) cos (otp) = @ Fa @
':,’5' [ N __‘_F— — b ¢ 4l
Jiemt T
L
(b e,z ,3) L\ VT
) ‘ Cz '»\‘r-\- 'v\l___\ = Q @
m s 2 T-l_—_'._‘s

":\-: — 1+ @
¢ = V2o @ = . -
a-2 < Vi < 3°2 @ -
20 ) Shh’- cosine WLQ_ @
Prove.  Avea = g B =R
A ABD = 55
= 232 )
Agcp = 253 B a
& LY
-\_C‘ i B — A BC - ﬁ ~ @
T -E' T'(QJ"F) D LE 9
=k
Lot m be the gredieat of Tongeh e &
] R I, o PBD s wule
E(\‘*A\'\on Oj'*l"rm"\'ﬁa‘\- = yh e gy
e SR @ g 2.2:8
Per\’uo\‘\w\av distrae = zdiws Bpts 19 @
\ MmO)— 3+ F —9qm™ ' = 2 ITn & RBCD ~‘l 2 "‘L‘t\\\-—-\.% 5 ’.n.‘.*v.’\: \3
S @ ®
lSmL_)&m+3>o _.:) ~=3 , ‘1_;2
Equatisss (8- V13 ) m-15Y4 +33~ SJi=g . ?—0)2 4o

(8- N5 ) n—isy

+33*¢1J‘-’zl£j,______




